SL.No.: 2121000034



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: ANUP DEBNATH

ROLL NO.: 2028881020034 REGN.NO.: 2088810220020 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type   | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade     | Grade<br>Points<br>(Gi) | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi |  |
|--|--|---------------|-------------------|----------------|----------------------------|-----------|-------------------------|----------------|--------------------------------|--|
| CORE COURSE: HIS101  | Theory   | 75            | 49                |                | T. P.                      | 5 S       | 2,74                    | 30 3           | 4 20°                          |  |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                            | Internal   | 25            | 19                | 100            | 68                         | A         | 6.80                    | 4.00           | 27.2                           |  |
| CORE COURSE: HIS102  | Theory   | 75            | 46                | 60             | 8                          | 7,80      | 3                       |                | 54 5                           |  |
| INTELLECTUAL AND CULTURAL HISTORY OF INDIA (PREHISTORY TO 12TH CENTURY CE) | Internal   | 25            | 20                | 100            | 66                         | A         | 6.60                    | 4.00           | 26.4                           |  |
| CORE COURSE: HIS103  | Theory   | 75            | 51                |                | 5 5                        | 5 5       |                         | 800            | 7 80                           |  |
| THE WORLD SINCE 1740 TO 1919   | Internal   | 25            | 14                | 100            | 65                         | A         | 6.50                    | 4.00           | 26.0                           |  |
| CORE COURSE: HIS104  | Theory   | 75            | 52                | 3 8            | 188                        |           | 6.80                    | 4.00           | 743                            |  |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                                 | Internal   | 25            | 16                | 100            | 68                         | A         |                         |                | 27.2                           |  |
| Grand Total Full Marks : 400   | Total C  | redit         | Total C           | Credit Poin    | 69 .5°                     |           |                         |                |                                |  |
| 267  | 2 3 16 16 The state of the stat |               | \$ 20 S           | 106.8          |                            | SGPA 6.68 |                         | .68            |                                |  |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000021



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : APU BISWAS

ROLL NO.: 2028881020021 REGN.NO.: 2088810220021 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

|          | Warks  | obtained  | Total<br>Marks   | Marks<br>obtained   | Grade                       | Points<br>(Gi)                  | Credit<br>(Ci)   | Points<br>(Ci) x (Gi)                         |
|----------|--|---|--|---|-----------------------------|---------------------------------|--|---|
| Theory   | 75   | 52  |  | Teo.  | 2 3                         | 2 2                             | 30 3   | 7 3   |
| Internal | 25   | 21  | 100  | 73  | A+                          | 7.30                            | 4.00   | 29.2  |
| Theory   | 75   | 43  | 80   | 37.5  | 7 60                        | 3                               |  | S & &   |
| Internal | 25   | 18  | 100  | 61  | A                           | 6.10                            | 4.00   | 24.4  |
| Theory   | 75   | 44  | \$0  | 5 5   | 30 5                        |                                 | \$0°   | 7 80  |
| Internal | 25   | 17  | 100  | 61  | A                           | 6.10                            | 4.00   | 24.4  |
| Theory   | 75   | 49  | 3  |   |                             | 3                               | 4.00   | 5 6   |
| Internal | 25   | 15  | 100  | 64  | A                           | 6.40                            |  | 25.6  |
|          | redit  | 25  |  | 60 P.   | SGPA                        |                                 | 48   |   |
|          | Internal Theory Internal Theory Internal Theory Internal | Internal 25 Theory 75 Internal 25 Theory 75 Internal 25 Theory 75 Internal 25 Theory 75 Internal 25 | Internal         25         21           Theory         75         43           Internal         25         18           Theory         75         44           Internal         25         17           Theory         75         49           Internal         25         15 | Theory   75   43   100     Internal   25   18   100     Internal   25   18   100     Theory   75   44   100     Internal   25   17   100     Theory   75   49   100     Internal   25   15   100     Total Credit   Total Credit Poin | Theory   75   43   100   61 | Theory   75   43   100   61   A | Theory   75   43   100   61   A   6.10     Theory   75   44   100   61   A   6.10     Theory   75   44   100   61   A   6.10     Theory   75   49   100   64   A   6.40     Theory   75   49   100   64   A   6.40     Total Credit   Total Credit Point   SGPA   6.40     Total Credit   Total Credit Point   Total Credit Point   Credit Poi | Theory   75   43   100   61   A   6.10   4.00 |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000033



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: ASRAFUL ALAM

ROLL NO.: 2028881020033 REGN.NO.: 2088810220022 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit | Credit<br>Points<br>(Ci) x (Gi |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|--------|--------------------------------|
| CORE COURSE: HIS101  | Theory                 | 75            | 52                |                | X 200                      | 5 S   | 2,74                    | 30 %   | P ST                           |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                            | Internal               | 25            | 20                | 100            | 72                         | A+    | 7.20                    | 4.00   | 28.8                           |
| CORE COURSE: HIS102  | Theory                 | 75            | 46                | 80             | 3                          | 18    | 3                       |        | J. 5                           |
| INTELLECTUAL AND CULTURAL HISTORY OF INDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 18                | 100            | 64                         | A     | 6.40                    | 4.00   | 25.6                           |
| CORE COURSE: HIS103 THE WORLD SINCE 1740 TO 1919                           | Theory                 | 75            | 51                | 100            | 5 5                        | 20 G  | 7.10                    | 4.00   | 28.4                           |
|  | Internal               | 25            | 20                |                | 71                         | A+    |                         |        |                                |
| CORE COURSE: HIS104  | Theory                 | 75            | 53                | 3 8            | 186                        | A     | 6.90                    | 4.00   | 1 4 8                          |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                                 | Internal               | 25            | 16                | 100            | 69                         |       |                         |        | 27.6                           |
| 3 8 3 8 3 8 3 8 3 3  | 18 3 3                 | 8 8           | 5 2               | 5              | 375                        | 5     |                         | 5 3    |                                |
| T. 3.533545-337 SA   | NO BO                  |               |                   | S CON          | (P. 20)                    | 58° 5 | 35.8                    |        | 40 go                          |

|   | 100              | ALC:     | 100 |     |
|---|------------------|----------|-----|-----|
| i |                  | No.      |     | 64  |
| 8 | あ                |          | 35  |     |
| 2 |                  | 100 p    | W.  |     |
| 1 |                  | 27       |     | 31  |
| 1 | 书等               |          |     |     |
| 1 | $\times \varphi$ | Option 1 | 40  | 204 |

| Grand Total Full Marks : 400 | Total Credit | Total Credit Point |      |      |
|------------------------------|--------------|--------------------|------|------|
| 276                          | S 16 5       | 110.4              | SGPA | 6.90 |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result : 28TH MAY, 2021

SL.No.: 2121000023



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: BASUDEB DEBNATH

ROLL NO.: 2028881020023 REGN.NO.: 2088810220023 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit | Credit<br>Points<br>(Ci) x (Gi) |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|--------|---------------------------------|
| CORE COURSE: HIS101  | Theory                 | 75            | 48                |                | J. 67                      | 5 B   | 274                     | 30 %   | 737                             |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                            | Internal               | 25            | 20                | 100            | 68                         | A     | 6.80                    | 4.00   | 27.2                            |
| CORE COURSE: HIS102  | Theory                 | 75            | 45                | 80             | 3                          | 18    | 3 1                     |        | J 8 50                          |
| INTELLECTUAL AND CULTURAL HISTORY OF INDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 18                | 100            | 63                         | A     | 6.30                    | 4.00   | 25.2                            |
| CORE COURSE: HIS103 THE WORLD SINCE 1740 TO 1919                           | Theory                 | 75            | 52                | 100            | 66                         | 30 5  | 6.60                    | 4.00   | 7 3                             |
|  | Internal               | 25            | 14                |                |                            | A     |                         |        | 26.4                            |
| CORE COURSE: HIS104  | Theory                 | 75            | 50                | 5              | 1 8                        | A     | 53                      | \$ 5°  | 26.4                            |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                                 | Internal               | 25            | 16                | 100            | 66                         |       | 6.60                    | 4.00   |                                 |
|  |                        |               |                   |                |                            |       |                         | 4 4 A  |                                 |

| No. (2) (40) (17) (20)              |
|-------------------------------------|
| STATE OF THE PARTY                  |
| <b>的特别的一种</b>                       |
|                                     |
|                                     |
|                                     |
| 2000年6月1日                           |
| (2)。被美国外统由国                         |
| The body of the Strong of Strong of |

| Grand Total Full Marks : 400 | Total Credit | Total Credit Point |      |      |
|------------------------------|--------------|--------------------|------|------|
| 263                          | 16           | 105.2              | SGPA | 6.58 |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000031



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: BATASI SARKAR

ROLL NO.: 2028881020031 REGN.NO.: 2088810220024 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  |                                  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade     | Grade<br>Points<br>(Gi) | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi) |
|--|----------------------------------|------------------------|---------------|-------------------|----------------|----------------------------|-----------|-------------------------|----------------|---------------------------------|
| CORE COURSE: HIS101  |                                  | Theory                 | 75            | 48                |                | E 30                       | 5 S       | 274                     | 30 3           | F 30                            |
| HISTORIOGRAPHY AND PHILOSOF<br>HISTORY PART-I                              | PHY OF                           | Internal               | 25            | 18                | 100            | 66                         | A         | 6.60                    | 4.00           | 26.4                            |
| CORE COURSE: HIS102  |                                  | Theory                 | 75            | 43                | P 0            | 8                          | 7 80      | 3                       |                | S & &                           |
| INTELLECTUAL AND CULTURAL HISTORY OF INDIA (PREHISTORY TO 12TH CENTURY CE) |                                  | Internal               | 25            | 19                | 100            | 62                         | A         | 6.20                    | 4.00           | 24.8                            |
| CORE COURSE: HIS103  |                                  | Theory                 | 75            | 51                | \$0            | 5 5                        | 5 3       |                         | 800            | J &                             |
| THE WORLD SINCE 1740 TO 1919   |                                  | Internal               | 25            | 20                | 100            | 71                         | A+        | 7.10                    | 4.00           | 28.4                            |
| CORE COURSE: HIS104 HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA             |                                  | Theory                 | 75            | 37                | 7 6            | 1 3 5                      | 7 5 S     | 3                       | 4.00           | 58 6                            |
|  |                                  | Internal               | 25            | 16                | 100            | 53                         | В         | 5.30                    |                | 21.2                            |
|  |                                  |                        |               |                   |                |                            |           |                         |                |                                 |
| IPPOCHES AN MELLYMICAGE  | Grand Total Full Marks : 400 252 |                        | redit         | Total (           | Credit Poin    | €° .5°                     | CODA      | 8 3 5 G                 | 20             |                                 |
|  |                                  |                        | 400           | 100.8             |                | 3 4 50                     | SGPA 6.30 |                         |                |                                 |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000024



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: BISWAJIT BARMAN

ROLL NO.: 2028881020024 REGN.NO.: 2088810220025 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|----------------|--------------------------------|
| CORE COURSE: HIS101  | Theory                 | 75            | 49                |                | E 30                       | 5 G   | 2 74                    | \$ 3           | A 30                           |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                            | Internal               | 25            | 21                | 100            | 70                         | A+    | 7.00                    | 4.00           | 28.0                           |
| CORE COURSE: HIS102  | Theory                 | 75            | 41                | 8 0            | 8                          | 7 60  | 3                       |                | 5 8                            |
| INTELLECTUAL AND CULTURAL HISTORY OF INDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 20                | 100            | 61                         | A     | 6.10                    | 4.00           | 24.4                           |
| CORE COURSE: HIS103  | Theory                 | 75            | 51                | 80             | 5 5                        | 30 6  | 274                     | \$0°0          | 7 20                           |
| THE WORLD SINCE 1740 TO 1919   | Internal               | 25            | 21                | 100            | 72                         | A+    | 7.20                    | 4.00           | 28.8                           |
| CORE COURSE: HIS104  | Theory                 | 75            | 50                | 7 6            | 3                          | 9 8   | 6.50                    | 4.00           | 5 P 3                          |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                                 | Internal               | 25            | 15                | 100            | 65                         | S'A   |                         |                | 26.0                           |
| Grand Total<br>Full Marks : 400  | Total Co               | redit         | Total C           | Credit Poin    |                            |       | 1                       |                |                                |
| 268  | 16                     | 107.2 SGPA    |                   | 6              | 6.70                       |       |                         |                |                                |

|     | <b>20 位山东</b> | G (40783) | (1)  |
|-----|---------------|-----------|------|
| 3   | 22 127        |           | 779  |
| Ц   | 200           | <b>以</b>  |      |
| 1   | 03492         | 0.00      | 440  |
| П   | 10000         |           | 10.5 |
| П   | 1300          |           | 32%  |
| 1   |               |           |      |
| l i | e visita      | 40.1      | W.   |
| li  | 3. 7          | a (254)   |      |
| l   | A PERM        | 2.50      | 50   |

| 0  | Grand Total<br>Full Marks : 400 | Total Credit | Total Credit Point |      |      |
|----|---------------------------------|--------------|--------------------|------|------|
| 30 | 268                             | 16           | 107.2              | SGPA | 6.70 |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000030



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: HABIBA BEGAM

ROLL NO.: 2028881020030 REGN.NO.: 2088810220026 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi)                 | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi |  |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|---|----------------|--------------------------------|--|
| CORE COURSE: HIS101  | Theory                 | 75            | 49                |                | K. E.                      | 5 S   | 2 7 L                                   | 30 %           | T B                            |  |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                          | Internal               | 25            | 16                | 100            | 65                         | A     | 6.50                                    | 4.00           | 26.0                           |  |
| CORE COURSE: HIS102  | Theory                 | 75            | 45                | 80             | 8                          | 7.00  |   |                | 5 d                            |  |
| NTELLECTUAL AND CULTURAL HISTORY OF NDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 14                | 100            | 59                         | B+    | 5.90                                    | 4.00           | 23.6                           |  |
| CORE COURSE: HIS103  | Theory                 | 75            | 51                | 80             | 5 5                        | 37 5  | 5 74                                    | \$0° 0         | 4 80                           |  |
| THE WORLD SINCE 1740 TO 1919   | Internal               | 25            | 20                | 100            | 71                         | A+    | 7.10                                    | 4.00           | 28.4                           |  |
| CORE COURSE: HIS104  | Theory                 | 75            | 50                | 7 3            | 1 8 8                      | 7 8 S | 5                                       | 7 0            | 5 d                            |  |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                               | Internal               | 25            | 16                | 100            | 66                         | S'A   | 6.60                                    | 4.00           | 26.4                           |  |
| SOURCE STATE   |                        |               |                   |                |                            |       | 1 2 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |                |                                |  |
| Grand Total<br>Full Marks : 400  | Total Cr               | redit         | Total C           | Credit Poin    | 60 P.                      |       |   | F2             | 3 5                            |  |
| 261  | 16                     |               |                   | 104.4          | Ja an                      | SGPA  | A 6.53                                  |                |                                |  |

| Grand Total<br>Full Marks : 400 | Total Credit | Total Credit Point |   |
|---------------------------------|--------------|--------------------|---|
| 261                             | 16           | 104.4              | 8 |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000038



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : JAYANTI ROY

ROLL NO.: 2028881020038 REGN.NO.: 2088810220027 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|----------------|--------------------------------|
| CORE COURSE: HIS101  | Theory                 | 75            | 48                |                | J. 30                      | 2 3   | 2,74                    | 30 3           | 7 20                           |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                          | Internal               | 25            | 18                | 100            | 66                         | A     | 6.60                    | 4.00           | 26.4                           |
| CORE COURSE: HIS102  | Theory                 | 75            | 38                | 80             | 8                          | 7,80  | 3                       |                | S &                            |
| NTELLECTUAL AND CULTURAL HISTORY OF NDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 21                | 100            | 59                         | B+    | 5.90                    | 4.00           | 23.6                           |
| CORE COURSE: HIS103  | Theory                 | 75            | 51                | 80             | \$ 5                       | 30 8  | 274                     | \$0°0          | 40                             |
| THE WORLD SINCE 1740 TO 1919   | Internal               | 25            | 17                | 100            | 68                         | A     | 6.80                    | 4.00           | 27.2                           |
| CORE COURSE: HIS104  | Theory                 | 75            | 50                | 3              | 1 3 5                      | 1     | 3                       | 7 3°           | 1 3 d                          |
| HISTORY OF SCIENCE AND TECHNOLOGY IN NOIA                                | Internal               | 25            | 16                | 100            | 66                         | SA    | 6.60                    | 4.00           | 26.4                           |
| Grand Total Full Marks : 400   | Total C                | redit         | Total C           | Credit Poin    |                            |       |                         |                |                                |
| 259  | 0 16                   |               |                   | 103.6          |                            | SGPA  |                         | 6.48           |                                |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000027



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: MALAY ADHIKARY

ROLL NO.: 2028881020027 REGN.NO.: 2088810220028 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code                                  | & Title                         | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi)                 | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi         |  |
|--|---------------------------------|------------------------|---------------|-------------------|----------------|----------------------------|-------|---|----------------|--|--|
| CORE COURSE: HIS101                                  | 8 8 K                           | Theory                 | 75            | 47                |                | T. P.                      | 2 S   | 274                                     | 30 3           | 7 g                                    |  |
| HISTORIOGRAPHY AND PHIL<br>HISTORY PART-I            | OSOPHY OF                       | Internal               | 25            | 17                | 100            | 64                         | A     | 6.40                                    | 4.00           | 25.6                                   |  |
| CORE COURSE: HIS102                                  | 5 8 5 g                         | Theory                 | 75            | 45                | 6 0            | 34.0                       | 7.80  | 3                                       | 80             | 5 5                                    |  |
| INTELLECTUAL AND CULTUR<br>INDIA (PREHISTORY TO 12TH |                                 | Internal               | 25            | 17                | 100            | 62                         | A     | 6.20                                    | 4.00           | 24.8                                   |  |
| CORE COURSE: HIS103                                  | S 22 5 5                        | Theory                 | 75            | 50                |                | 5 0                        | 5 3   |   | 200            | 7 30                                   |  |
| THE WORLD SINCE 1740 TO                              |                                 | Internal               | 25            | 16                | 100            | 66                         | A     | 6.60                                    | 4.00           | 26.4                                   |  |
| DRE COURSE: HIS104                                   |                                 | Theory                 | 75            | 44                | 50             | 7 5 S                      | 100   | 8                                       | 8 8            | \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ |  |
| HISTORY OF SCIENCE AND I                             | TECHNOLOGY IN                   | Internal               | 25            | 16                | 100            | 60                         | S'A   | 6.00                                    | 4.00           | 24.0                                   |  |
|  | Grand Total<br>Full Marks : 400 | Total C                | redit         | Total C           | Credit Poin    | 69 .5°                     |       | 4 4 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 |                |  |  |
|  | 252                             | 16                     |               |                   | 100.8          | 3 8 33                     | SGPA  |   | A 6.30         |  |  |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000041



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: MALINDRA BARMAN

ROLL NO.: 2028881020041 REGN.NO.: 2088810220029 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title   | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit | Credit<br>Points<br>(Ci) x (Gi         |
|---|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|--------|--|
| CORE COURSE: HIS101   | Theory                 | 75            | 48                |                | 67                         | 5 G   | 2,74                    | 30 %   | 7 30                                   |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                       | Internal               | 25            | 19                | 100            |                            | A     | 6.70                    | 4.00   | 26.8                                   |
| CORE COURSE: HIS102   | Theory                 | 75            | 45                | 8 3            | 8                          | 1 6   | 3                       |        | J 5                                    |
| LLECTUAL AND CULTURAL HISTORY OF<br>A (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 21                | 100            | 66                         | A     | 6.60                    | 4.00   | 26.4                                   |
| ORE COURSE: HIS103  | Theory                 | 75            | 50                | 100            | 5 5                        | 3 ° 5 | 7.20                    | 300    | 7 80                                   |
| THE WORLD SINCE 1740 TO 1919  | Internal               | 25            | 22                |                | 72                         | A+    |                         | 4.00   | 28.8                                   |
| CORE COURSE: HIS104   | Theory                 | 75            | 49                | 3              |                            | 7 3   | 8                       | £ 20   | \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                            | Internal               | 25            | 15                | 100            | 64                         | SA    | 6.40                    | 4.00   | 25.6                                   |
|   |                        | 18/10         |                   | B &            |                            |       | 40                      | 3 4    |  |
| S. S                              |                        | Put           |                   | \$ \$          |                            |       | \$ 54<br>\$2 5          |        |  |

|   | 网络路线区   |   |
|---|---|---|
|   | <b>美国企业</b>   | ľ |
|   | 0.00  |   |
|   |   |   |
|   |   |   |
| ١ | 2. 2. 2. 2. 2. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3. |   |

| 269                          | \$ 16        | 107.6              | SGPA |
|------------------------------|--------------|--------------------|------|
| Grand Total Full Marks : 400 | Total Credit | Total Credit Point |      |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result : 28TH MAY, 2021

CONTROLLER OF EXAMINATIONS (Addl. Charge)

SL.No.: 2121000025



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: MANAS THAKUR.

ROLL NO.: 2028881020025 REGN.NO.: 2088810220030 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade  | Grade<br>Points<br>(Gi) | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi        |
|--|------------------------|---------------|-------------------|----------------|----------------------------|--------|-------------------------|----------------|---------------------------------------|
| CORE COURSE: HIS101  | Theory                 | 75            | 50                |                | K. P.                      | 5 S    | 2 /2 L                  | 30 %           | T ST                                  |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                            | Internal               | 25            | 18                | 100            | 68                         | A      | 6.80                    | 4.00           | 27.2                                  |
| CORE COURSE: HIS102  | Theory                 | 75            | 45                | 8 0            | 5                          | 18     |                         |                | N 6                                   |
| INTELLECTUAL AND CULTURAL HISTORY OF INDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 17                | 100            | 62                         | A      | 6.20                    | 4.00           | 24.8                                  |
| CORE COURSE: HIS103  | Theory                 | 75            | 53                | \$0            | 5 5                        | \$ 5   | 9 3 T                   | 200            | 5 P                                   |
| THE WORLD SINCE 1740 TO 1919   | Internal               | 25            | 23                | 100            | 76                         | A+     | 7.60                    | 4.00           | 30.4                                  |
| CORE COURSE: HIS104  | Theory                 | 75            | 50                | 3              | 38                         | P 8    | 8                       | \$ 00°         | \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                                 | Internal               | 25            | 15                | 100            | 65                         | S'A    | 6.50                    | 4.00           | 26.0                                  |
| Grand Total  | Total Ci               | andia.        | Total (           | Credit Poin    |                            |        |                         |                |                                       |
| Full Marks : 400   | 16                     | reuit         | 37.5              | 108.4          | 60 P.                      | SGPA 6 |                         | .78            |                                       |

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000039



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: MANASHI ROY

ROLL NO.: 2028881020039 REGN.NO.: 2088810220031 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit | Credit<br>Points<br>(Ci) x (Gi) |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|--------|---------------------------------|
| CORE COURSE: HIS101  | Theory                 | 75            | 49                |                |                            | 2 S   | 274                     | 30 3   | F 30 1                          |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                          | Internal               | 25            | 16                | 100            | 65                         | A     | 6.50                    | 4.00   | 26.0                            |
| CORE COURSE: HIS102  | Theory                 | 75            | 41                | 6              | 376                        | 7 80  | 3                       |        | 5 8 S                           |
| NTELLECTUAL AND CULTURAL HISTORY OF NDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 20                | 100            | 61                         | A     | 6.10                    | 4.00   | 24.4                            |
| CORE COURSE: HIS103  | Theory                 | 75            | 52                |                | 5 5                        | 5 5   | 0 2                     | 300    | 2 E                             |
| WORLD SINCE 1740 TO 1919   | Internal               | 25            | 20                | 100            | 72                         | A+    | 7.20                    | 4.00   | 28.8                            |
| CORE COURSE: HIS104  | Theory                 | 75            | 50                | 3              | 3                          | 7 3   | 8                       | £ 50   | 58 6                            |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                               | Internal               | 25            | 16                | 100            | 66                         | S'A   | 6.60                    | 4.00   | 26.4                            |
|  | Month.                 |               |                   |                |                            |       |                         |        |                                 |
| Grand Total<br>Full Marks : 400  | Total C                | redit         | Total (           | Credit Poin    | 8 . ST                     |       | 40 B                    |        |                                 |
| 264  | S 5 16                 | 167           | \$ 3              | 105.6          | \$ 3                       | SGPA  | 6                       | .60    |                                 |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000020



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: NABIUL ISLAM

ROLL NO.: 2028881020020 REGN.NO.: 2088810220032 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|----------------|--------------------------------|
| CORE COURSE: HIS101  | Theory                 | 75            | 53                |                |                            | 2 3   | 274                     | \$ 3           | F 20                           |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                          | Internal               | 25            | 21                | 100            | 74                         | A+    | 7.40                    | 4.00           | 29.6                           |
| CORE COURSE: HIS102  | Theory                 | 75            | 46                | 6 D            | 3                          | 1 62  | 3                       |                | 5 5                            |
| NTELLECTUAL AND CULTURAL HISTORY OF NDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 20                | 100            | 66                         | A     | 6.60                    | 4.00           | 26.4                           |
| CORE COURSE: HIS103  | Theory                 | 75            | 48                |                | 5 5                        | 3 . ¢ | 0 V                     | 800            | 40                             |
| E WORLD SINCE 1740 TO 1919   | Internal               | 25            | 21                | 100            | 69                         | A     | 6.90                    | 4.00           | 27.6                           |
| CORE COURSE: HIS104  | Theory                 | 75            | 48                | 7 3            | 38                         | 7 8   | \$ J                    | \$ @           | 58 4                           |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                               | Internal               | 25            | 16                | 100            | 64                         | SA    | 6.40                    | 4.00           | 25.6                           |
| Grand Total  | Total C                |               |                   | Credit Poin    |                            |       |                         |                |                                |

| Grand Total Full Marks: 400 | Total Credit | Total Credit Point |      |
|-----------------------------|--------------|--------------------|------|
| 273                         | 5 0 16 0     | 109.2              | SGPA |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000040



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : PALI ROY

ROLL NO.: 2028881020040 REGN.NO.: 2088810220033 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title   | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade  | Grade<br>Points<br>(Gi) | Credit | Credit<br>Points<br>(Ci) x (Gi |
|---|------------------------|---------------|-------------------|----------------|----------------------------|--------|-------------------------|--------|--------------------------------|
| CORE COURSE: HIS101   | Theory                 | 75            | 48                |                | 67                         | 5 3    | 2 2                     | 30 %   | 7 30                           |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                       | Internal               | 25            | 19                | 100            |                            | A      | 6.70                    | 4.00   | 26.8                           |
| CORE COURSE: HIS102   | Theory                 | 75            | 45                | 8 0            | 3                          | 18     | 3 1                     |        | 58 6                           |
| ELLECTUAL AND CULTURAL HISTORY OF DIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 17                | 100            | 62                         | A      | 6.20                    | 4.00   | 24.8                           |
| CORE COURSE: HIS103   | Theory                 | 75            | 51                | 100            | 5 0                        | \$ . ¢ | 7.00                    | 4.00   | 7 30                           |
| THE WORLD SINCE 1740 TO 1919  | Internal               | 25            | 21                |                | 72                         | A+     | 7.20                    | 4.00   | 28.8                           |
| CORE COURSE: HIS104   | Theory                 | 75            | 51                | 7 6            | 38 8                       | 7 8    | \$ J                    | 7 g    | 5 F 3                          |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                            | Internal               | 25            | 21                | 100            | 72                         | A+     | 7.20                    | 4.00   | 28.8                           |
|   | March 1                |               |                   |                |                            |        |                         |        |                                |
| 图   |                        |               |                   | 3 38           | 3                          | 20     | 4 2 3                   |        |                                |

| 15 | 1  | MI.    | 180     | $\mathfrak{f}$ |    |
|----|----|--------|---------|----------------|----|
| 12 |    |        | ma      | 30             | ě  |
| 2  | 18 | 20     | 1       | 33.            | d  |
| G  |    | 11     | N.      | <b>.</b>       | 2  |
| 14 |    | 20     |         |                | ş  |
|    |    |        |         | 16             | ì  |
| 13 |    |        | N.      |                | H  |
| W. |    | 000000 | Line St | MEN DE         | e. |

| 80 | 273                          | 16           | 109.2              | SGPA | 6.83 |  |
|----|------------------------------|--------------|--------------------|------|------|--|
| P, | Grand Total Full Marks : 400 | Total Credit | Total Credit Point |      |      |  |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000022



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : PAPI ROY

ROLL NO.: 2028881020022 REGN.NO.: 2088810220034 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Type  | Full<br>Marks   | Marks<br>obtained   | Total<br>Marks   | Total<br>Marks<br>obtained   | Grade  | Grade<br>Points<br>(Gi)   | Credit<br>(Ci)   | Credit<br>Points<br>(Ci) x (Gi   |
|--|---|---|--|--|--|---|--|--|
| Theory   | 75  | 52  |  | 5 8°   | 5 3  | 2 /2 L  | 30 %   | F 30   |
| Internal   | 25  | 17  | 100  | 69   | A  | 6.90  | 4.00   | 27.6   |
| Theory   | 75  | 40  | 80   | S  | 7.80   | 3   |  | 1 8 S  |
| Internal   | 25  | 17  | 100  | 57   | B+   | 5.70  | 4.00   | 22.8   |
| Theory   | 75  | 50  | (0)  | 5 5  | \$ 5°  | 5 7 kg  | 200  | 7 g  |
| Internal   | 25  | 21  | 100  | 71   | A+   | 7.10  | 4.00   | 28.4   |
| Theory   | 75  | 49  | 5  | 1 3 S  | P 8  | 3   | 80   | SF 6   |
| Internal   | 25  | 16  | 100  | 65   | SA<br>S  | 6.50  | 4.00   | 26.0   |
| ्राज्या ।<br>स्थानिक स्थानिक |   |   |  |  |  |   |  |  |
| Total C  | redit   | Total (   | Credit Poin  | 80 PL  | SGPA   | \$ 6.   | 55   |  |
| 16   |   |   | 104.8  |  |  |   | \$ 00° E   |  |
|  | Theory Internal Theory Internal Theory Internal Theory Internal Theory Internal | Theory 75 Internal 25 | Theory 75 52  Internal 25 17  Theory 75 40  Internal 25 17  Theory 75 50  Internal 25 21  Theory 75 49  Internal 25 16 | Theory 75 52 100 Internal 25 17 100 Internal 25 17 100 Internal 25 17 100 Internal 25 21 100 Internal 25 21 100 Internal 25 21 100 Internal 25 16 100 Internal 25 16 | Theory 75 52 100 69  Internal 25 17 100 69  Internal 25 17 100 57  Theory 75 50 100 71  Internal 25 21 100 65  Internal 25 16 Total Credit Point | Theory 75 52 100 69 A  Internal 25 17 100 69 A  Theory 75 40 100 57 B+  Internal 25 17 100 71 A+  Theory 75 50 100 71 A+  Internal 25 21 100 65 A  Internal 25 16 Total Credit Point  Total Credit Total Credit Point | Theory 75 52 100 69 A 6.90  Internal 25 17 100 57 B+ 5.70  Internal 25 17 100 71 A+ 7.10  Theory 75 50 100 71 A+ 7.10  Internal 25 21 100 65 A 6.50  Internal 25 16 SGPA 6 | Theory 75 52 100 69 A 6.90 4.00  Internal 25 17 100 57 B+ 5.70 4.00  Internal 25 17 100 71 A+ 7.10 4.00  Theory 75 49 100 65 A 6.50 4.00  Internal 25 16 SGPA 6.55 |

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000029



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME : PINKI RAY

ROLL NO.: 2028881020029 REGN.NO.: 2088810220035 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Co                 | ode & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi)                       | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi |
|-----------------------------------|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|---|----------------|--------------------------------|
| CORE COURSE: HIS101               | £ £ 3 £ 6  | Theory                 | 75            | 48                |                | 1 20°                      | 2 &   | 2 74  | \$ 3           | F 30                           |
| HISTORIOGRAPHY AND HISTORY PART-I | PHILOSOPHY OF  | Internal               | 25            | 16                | 100            | 64                         | A     | 6.40  | 4.00           | 25.6                           |
| CORE COURSE: HIS102               | TO STATE   | Theory                 | 75            | 45                | P 2            | 8                          | 7 60  | 3   |                | 5 5                            |
| INTELLECTUAL AND CUI              | THE CONTRACT OF THE CONTRACT O | Internal               | 25            | 19                | 100            | 64                         | A     | 6.40  | 4.00           | 25.6                           |
| CORE COURSE: HIS103               | 8 8 2 1  | Theory                 | 75            | 49                | 30             | 5 5                        | 5 5   |   | 800            | 7 40                           |
| THE WORLD SINCE 1740              | TO 1919  | Internal               | 25            | 18                | 100            | 67                         | A     | 6.70  | 4.00           | 26.8                           |
| CORE COURSE: HIS104               |  | Theory                 | 75            | 38                |                | 38.5                       | 7 8 S | 8   | <b>3</b> 20    | 58 S                           |
| HISTORY OF SCIENCE A              | ND TECHNOLOGY IN   | Internal               | 25            | 16                | 100            | 54                         | В     | 5.40  | 4.00           | 21.6                           |
| 5. 8.8954.8780 50 l               |  | A REP                  |               |                   |                |                            |       | 4 2 2 3 3 4 3 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 |                |                                |
|                                   | Grand Total<br>Full Marks : 400  | Total C                | redit         | Total C           | Credit Poin    | 8 .N                       | 0004  | \$0 4°  | .23            |                                |
|                                   | 249  | 16                     |               |                   | 99.60          |                            | SGPA  |   | .23            |                                |
|                                   |  | Course(s)/Paper        | (s) not cl    | eared ma          | rked as        | 'E'                        |       | 5° 5°   |                | ار کی                          |

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000035



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: PRASENJIT DEY

ROLL NO.: 2028881020035 REGN.NO.: 2088810220036 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Pap<br>Type | per Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi |
|--|----------------------|-------------------|-------------------|----------------|----------------------------|-------|-------------------------|----------------|--------------------------------|
| CORE COURSE: HIS101  | Theory               | 75                | 47                |                | E 200                      | 5 G   | 2,24                    | \$000          | A 30                           |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                          | Internal             | 25                | 17                | 100            | 64                         | A     | 6.40                    | 4.00           | 25.6                           |
| CORE COURSE: HIS102  | Theory               | 75                | 40                | 80             | 30                         | 1 62  | 3                       |                | 5 8                            |
| INTELLECTUAL AND CULTURAL HISTORY<br>INDIA (PREHISTORY TO 12TH CENTURY C | T., 4 = = 1          | 25                | 20                | 100            | 60                         | A     | 6.00                    | 4.00           | 24.0                           |
| CORE COURSE: HIS103  | Theory               | 75                | 49                | 30             | 5 5                        | 30 5  | 2.74                    | 400            | 7 40                           |
| THE WORLD SINCE 1740 TO 1919   | Internal             | 25                | 17                | 100            | 66                         | A     | 6.60                    | 4.00           | 26.4                           |
| CORE COURSE: HIS104  | Theory               | 75                | 49                | 7 0            | 3 5                        | 7 8 S | 8                       | 7 0            | 5 8 S                          |
| HISTORY OF SCIENCE AND TECHNOLOGY  | Internal             | 25                | 15                | 100            | 64                         | A     | 6.40                    | 4.00           | 25.6                           |
|  |                      |                   |                   |                |                            |       |                         |                |                                |
| Grand Tota<br>Full Marks :   | T.                   | otal Credit       | Total (           | Credit Poin    | 60 P.                      | SGPA  | 8 6                     | .35            |                                |
| 254  |                      | 16                | 423               | 101.6          |                            |       |                         | 300            | 3 4 30                         |
| 次 数值销售货货   | Course(s)/Pa         | aper(s) not c     | leared ma         | rked as        | 'E'                        | 20    | 5 5                     | 7              | P 5                            |

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000042



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: SANJITA SARKAR

ROLL NO.: 2028881020042 REGN.NO.: 2088810220037 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|----------------|--------------------------------|
| CORE COURSE: HIS101  | Theory                 | 75            | 48                |                |                            | 2 S   | 2,24                    | 30 3           | A ED                           |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                          | Internal               | 25            | 16                | 100            | 64                         | A     | 6.40                    | 4.00           | 25.6                           |
| CORE COURSE: HIS102  | Theory                 | 75            | 35                | 6 D            | 8                          | 160   | ١٠٥٥                    |                | 5 8                            |
| NTELLECTUAL AND CULTURAL HISTORY OF NDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 17                | 100            | 52                         | В     | 5.20                    | 4.00           | 20.8                           |
| CORE COURSE: HIS103  | Theory                 | 75            | 50                | \$0            | 5 2                        | 37 5  |                         | \$0.5          | V 20                           |
| THE WORLD SINCE 1740 TO 1919   | Internal               | 25            | 19                | 100            | 69                         | A     | 6.90                    | 4.00           | 27.6                           |
| CORE COURSE: HIS104  | Theory                 | 75            | 48                | 100            | 38                         | 100   | 200                     | 7 go           | J 8 3                          |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                               | Internal               | 25            | 16                |                | 64                         | S'A   | 6.40                    | 4.00           | 25.6                           |
| R SHAMES AND   | Market 1               |               |                   |                |                            |       |                         |                |                                |
| Grand Total<br>Full Marks : 400  | Total C                | redit         | Total (           | Credit Poin    | 8 P.                       | OODA  | 30 30                   | .23            |                                |
| 249  | 5 16                   |               |                   | 99.60          |                            | SGPA  |                         | .23            |                                |
| Z MANAGONIA  | Course(s)/Paper        | (s) not cl    | eared ma          | rked as        | 'E'                        | · 50' | 5 F                     | 7 5            | 8 S                            |

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000028



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

# FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: SIULI KHATUN

ROLL NO.: 2028881020028 REGN.NO.: 2088810220038 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|----------------|--------------------------------|
| CORE COURSE: HIS101  | Theory                 | 75            | 44                |                | E 20                       | 5 3   | 2,74                    | 30 %           | 7 3                            |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                          | Internal               | 25            | 21                | 100            | 65                         | A     | 6.50                    | 4.00           | 26.0                           |
| CORE COURSE: HIS102  | Theory                 | 75            | 47                | F 2            | 8                          | 18    | 3 5                     |                | 8 5                            |
| NTELLECTUAL AND CULTURAL HISTORY OF NDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 23                | 100            | 70                         | A+    | 7.00                    | 4.00           | 28.0                           |
| CORE COURSE: HIS103  | Theory                 | 75            | 51                | 30             | 5 5                        | \$ 5° | 5 3 T                   | 40 3           | 2 B                            |
| THE WORLD SINCE 1740 TO 1919   | Internal               | 25            | 22                | 100            | 73                         | A+    | 7.30                    | 4.00           | 29.2                           |
| CORE COURSE: HIS104  | Theory                 | 75            | 45                | 7 9            | 38                         |       | \$ J                    | F 20           | 58 d                           |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                               | Internal               | 25            | 16                | 100            | 61                         | S'A   | 6.10                    | 4.00           | 24.4                           |
|  |                        |               |                   |                |                            |       |                         |                |                                |
| K AND ST   |                        |               |                   | 3 8            |                            |       |                         |                |                                |

| E to the second   |      |
|-------------------|------|
| To the second     | 1    |
| THE STATE OF      |      |
|                   |      |
|                   |      |
| N. Park           |      |
| 100 March 100 Med | 0.00 |

| Grand Total Full Marks: 400 | Total Credit | Total Credit Point |
|-----------------------------|--------------|--------------------|
| 269                         | S 16 5       | 107.6              |

SGPA 6.73

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000036



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: SUDIPTA RAY

ROLL NO.: 2028881020036 REGN.NO.: 2088810220039 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|----------------|--------------------------------|
| CORE COURSE: HIS101  | Theory                 | 75            | 45                |                | T.O.                       | 5 S   | 2 2                     | 30 %           | 7 30                           |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                            | Internal               | 25            | 16                | 100            | 61                         | A     | 6.10                    | 4.00           | 24.4                           |
| CORE COURSE: HIS102  | Theory                 | 75            | 38                | 80             | 80                         | 18    | 3                       |                | X 5                            |
| INTELLECTUAL AND CULTURAL HISTORY OF INDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 20                | 100            | 58                         | B+    | 5.80                    | 4.00           | 23.2                           |
| CORE COURSE: HIS103  | Theory                 | 75            | 53                | 80             | 0 69                       | A     | 6.90                    | 4.00           | 7 30                           |
| THE WORLD SINCE 1740 TO 1919   | Internal               | 25            | 16                | 100            |                            |       |                         |                | 27.6                           |
| CORE COURSE: HIS104  | Theory                 | 75            | 45                | 7 6            | 5                          | 9 8   | \$ J                    | 7 g            | 5 d                            |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                                 | Internal               | 25            | 16                | 100            | 61                         | S A   | 6.10                    | 4.00           | 24.4                           |
|  | A STORY                | 8 6           |                   | 5              |                            |       | 40                      |                |                                |
| o Addivanti oi   |                        | 1815          |                   | 200            | 2 8 3 S                    | 2 P   | 3 8                     | 300            | 8 30                           |

|   | %。各些原理的地位,然  |
|---|--|
|   | SELECTION OF THE PARTY OF THE P |
|   | <b>经产品</b>   |
|   | 100  |
|   |  |
|   |  |
|   | <b>电路制度测量器</b>   |
|   | <b>交叉</b>  |
| П | A SERVICE STATE OF THE PARTY OF |

| Grand Total Full Marks : 400 | Total Credit | Total Credit Point |      |
|------------------------------|--------------|--------------------|------|
| 249                          | 16           | 99.60              | SGPA |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

CONTROLLER OF EXAMINATIONS (Addl. Charge)

SL.No.: 2121000032



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: SUKUMAR SARKAR

ROLL NO.: 2028881020032 REGN.NO.: 2088810220040 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title   | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi) | Credit | Credit<br>Points<br>(Ci) x (Gi |
|---|------------------------|---------------|-------------------|----------------|----------------------------|-------|-------------------------|--------|--------------------------------|
| CORE COURSE: HIS101  HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I                            | Theory                 | 75            | 45                |                | F 30                       | A     | 6.50                    | 4.00   | 26.0                           |
|   | Internal               | 25            | 20                | 100            | 65                         |       |                         |        |                                |
| CORE COURSE: HIS102  INTELLECTUAL AND CULTURAL HISTORY OF INDIA (PREHISTORY TO 12TH CENTURY CE) | Theory                 | 75            | 38                | 100            | 55                         | B+    | 5.50                    | 4.00   | 22.0                           |
|   | Internal               | 25            | 17                |                |                            |       |                         |        |                                |
| CORE COURSE: HIS103 THE WORLD SINCE 1740 TO 1919  | Theory                 | 75            | 51                | 100            | 72                         | A+    | 7.20                    | 4.00   | 1 60                           |
|   | Internal               | 25            | 21                |                |                            |       |                         |        | 28.8                           |
| CORE COURSE: HIS104 HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                                  | Theory                 | 75            | 43                | 100            | 58                         | B+    | 5.80                    | 4.00   | 23.2                           |
|   | Internal               | 25            | 15                |                |                            |       |                         |        |                                |
|   |                        | 80            | 5                 |                |                            |       | 430                     |        |                                |
| S. Windawski Sil  |                        | AN            |                   |                | 5 E2                       | 28 S  | 327                     | 300    | 4 30                           |

| ı | 18. 紫海阳器30.30                                  |
|---|--|
|   | 第1元 300 000 000                                |
|   | <b>第二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十</b> |
|   | (中)  |
|   |  |
|   | 74-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1       |
|   | <b>文章</b> 英语英语                                 |

| Grand Total Full Marks : 400 | Total Credit | Total Credit Point |     |
|------------------------------|--------------|--------------------|-----|
| 250                          | 16           | 100.0              | SGP |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

CONTROLLER OF EXAMINATIONS (Addl. Charge)

SL.No.: 2121000037



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: TANUSREE BISWAS

ROLL NO.: 2028881020037 REGN.NO.: 2088810220041 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title   | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade | Grade<br>Points<br>(Gi)                    | Credit   | Credit<br>Points<br>(Ci) x (Gi) |
|---|------------------------|---------------|-------------------|----------------|----------------------------|-------|--|--|---------------------------------|
| CORE COURSE: HIS101   | Theory                 | 75            | 44                |                | E 200                      | 2 &   | 2,74                                       | 30 3   | 7 20 C                          |
| HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I   | Internal               | 25            | 20                | 100            | 64                         | A     | 6.40                                       | 4.00   | 25.6                            |
| CORE COURSE: HIS102  INTELLECTUAL AND CULTURAL HISTORY OF INDIA (PREHISTORY TO 12TH CENTURY CE) | Theory                 | 75            | 38                | 100            | 56                         | B+    | 5.60                                       | 4.00   | 22.4                            |
|   | Internal               | 25            | 18                |                |                            |       |  |  |                                 |
| CORE COURSE: HIS103 THE WORLD SINCE 1740 TO 1919  | Theory                 | 75            | 50                | 100            | 71                         | A+    | 7.10                                       | 4.00   | 28.4                            |
|   | Internal               | 25            | 21                |                |                            |       |  |  |                                 |
| CORE COURSE: HIS104 HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                                  | Theory                 | 75            | 44                | 100            | 60                         | A     | 6.00                                       | 4.00   | 24.0                            |
|   | Internal               | 25            | 16                |                |                            |       |  |  |                                 |
|   |                        |               |                   |                |                            |       | 2 4 10 10 10 10 10 10 10 10 10 10 10 10 10 | 100 dt 10 |                                 |

| 多無知    | 50 X       |
|--------|------------|
| STABLE | <b>建筑等</b> |
|        | 和主義        |
|        |            |
|        |            |
|        | 院展開        |
| X 100  |            |

| 251                          | 16           | 100.4              | SGPA       |
|------------------------------|--------------|--------------------|------------|
| Grand Total Full Marks : 400 | Total Credit | Total Credit Point | Walter St. |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

CONTROLLER OF EXAMINATIONS (Addl. Charge)

SL.No.: 2121000026



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF ARTS IN HISTORY

The following is the statement of marks and grades obtained by

NAME: URMILA DEY

ROLL NO.: 2028881020026 REGN.NO.: 2088810220042 SESSION: 2020-2021

for the First Semester Examination in HISTORY, held in May, 2021

| Course / Paper Code & Title  | Course / Paper<br>Type | Full<br>Marks | Marks<br>obtained | Total<br>Marks | Total<br>Marks<br>obtained | Grade     | Grade<br>Points<br>(Gi)                  | Credit<br>(Ci) | Credit<br>Points<br>(Ci) x (Gi) |
|--|------------------------|---------------|-------------------|----------------|----------------------------|-----------|--|----------------|---------------------------------|
| CORE COURSE: HIS101  HISTORIOGRAPHY AND PHILOSOPHY OF HISTORY PART-I       | Theory                 | 75            | 48                | 100            | 65                         | A         | 6.50                                     | 4.00           | 26.0                            |
|  | Internal               | 25            | 17                |                |                            |           |  |                |                                 |
| CORE COURSE: HIS102  | Theory                 | 75            | 43                | 80             | S                          | A         | 6.20                                     | 4.00           | 24.8                            |
| INTELLECTUAL AND CULTURAL HISTORY OF INDIA (PREHISTORY TO 12TH CENTURY CE) | Internal               | 25            | 19                | 100            | 62                         |           |  |                |                                 |
| CORE COURSE: HIS103 THE WORLD SINCE 1740 TO 1919                           | Theory                 | 75            | 51                | 100            | 71                         | A+        | 7.10                                     | 4.00           | 28.4                            |
|  | Internal               | 25            | 20                |                |                            |           |  |                |                                 |
| CORE COURSE: HIS104  | Theory                 | 75            | 44                | 100            | 60                         | A         | 6.00                                     | 4.00           | 24.0                            |
| HISTORY OF SCIENCE AND TECHNOLOGY IN INDIA                                 | Internal               | 25            | 16                |                |                            |           |  |                |                                 |
|  | William Control        |               |                   |                |                            |           | 10 10 10 10 10 10 10 10 10 10 10 10 10 1 |                | 2                               |
| Grand Total<br>Full Marks : 400  | Total C                | redit         | Total (           | Credit Poin    | 60 P.                      | SGPA 6.45 |  |                |                                 |

| Grand Total Full Marks : 400 | Total Credit | Total Credit Point |      |  |
|------------------------------|--------------|--------------------|------|--|
| 258                          | 5 2 16 2     | 103.2              | SGPA |  |

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021